(A : opes2icl 0L : 7 A : 2

Asu sAU2l
15. ALHHL U
AlUa] ollM : Aflw: /7
(Qentelle] otin Ad ololR 1
A Jletsell uel : AuA : 30 Al $CL 9LQL : 20 QL
Yst:l o{lA WAL Usllotl Grir dull. [8]

(1) UHMLA sleAMl 58 o] cABlol saUMl W] B ?
2) gl A3AURAl R Butaan g s 2
(3) ARSIHIE Uef AsuUBL &Y ot ollsncll gal 9 QAR B ?
(4) galoll U uslal DdUcR 9 el ?
Yat:2 o{lA WAL 20€loll AHLoU] 2Ace AL [4]
1) HYR
(2) sls
(3) aAA
(4) Hxel
Ust:3 o(lA Al ctsl sl ollA 8 el slal 58 & A vl [4]
(1) vl sy’
2) Hlal B 1 aueS | Al dLl’
3) RUElet YR & B, eaAlot YN oW
@) A § % ¢ ofU, Hol 52 HLg GlleS’
Wst:4 ol BAEL A0E UHS HI2 s AGE vl [4]
(1) HERR Al N HEelloll o
(2) ARSlell AUslell ailall 255
(3) %9lclal UUR

(4) Al AdRel



